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Answer all the questions

Wrong answers will be penalized.
I. Rename this file with your first and last name.

II. Only the answers on this word file will be graded.

III. Write your first and last name to the footer.
IV. Save the file on your computer (temporary directory of your computer)

V. ,α=0.05, unless otherwise mentioned.
VI. Do not forget to upload this word document to the system.

VII. Taking any (mobile) communication device to lab is considered act of cheating.

Write your name here : 
________________

Log(wage) = β0+β1 educ + β2 exper + β3 exper*exper + β4 black +β5 smsa + β6 south + β7 nearc4+ ε
Wage: wage 

Educ: year of education

Exper: year of experience

SMSA: dummy if the agent was living in the same location in the last survey

South: dummy variable for south

Nearc4: if agent live near to 4 year collage

The control group is white an agent that who did not survey at the same location in the last survey, live in non-south region and where (s)he lives there is no higher education.  
Let log(wage), smsa and nearc4 are the endogenous variables.
a. What are the exogeneous variables in the equation
b. Can you reason why SMSA  might be an endogeneous variable?

Consider  south66, motheduc, and enroll as additional exogenous variables. 
c. Report the first stage regression(s)

d. Report the second stage regression(s)
e. Interpret the estimated coefficient for educ (β1).

f. Interpret the estimated coefficient for south (β6).

Consider the following model

Log(wage) = β0+β1 educ + β2 exper + β3 exper*exper + β4 black +β5 smsa + β6 south + β7 nearc2+ β8 nearc4+ ε

Where Nearc2: if agent live near to 2 year collage.
The control group is white an agent that who did not survey at the same location in the last survey, live in non-south region and where (s)he lives there is no higher education.  

g. How would you interpret β7 and β8?
h. Ceteris paribus, wow much wage/log(wage) is expected to change on average as exper increases by one unit?

i. At least how many instruments that you need to estimate the above equation for 2SLS estimator.  Reason it.
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